KOHTpPOJIbHAasA padoTa Ned 110 TEME ,, JIOTAPHOMHYECKAA ®YHKIIHA * 10 KIIACC (A-10-11)

| BapuaHT Il BapuanT
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2. CpaBHHTE 4YHCIA:

1
log 1,3 « |Og5lz; log,; 22 = log, ,~/400

2.. CpaBHuTe UHuCHa:

3
log 1,7 « I0951Z; log,,19 « log, ;400

a) logs (4x-1) =1;

3. Pemmre ypaBHEHUSA:

0) log »(x + 3) + log(x —3) =2 + log », ( 2,5x + 11,75).

a) log, (3x+1)=1;

3. Pemmre ypaBHEHMS:

0) log s (x+4)+logs (x—4)=1+log;(3x—2).

a)log, (2x-7)<3;
6) Iog}(lo—x)+logl(x—3) >-1
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4. Pemnte HEpaBEHCTBA:

4. PemnTe HEpaBeHCTBa: a)log s (2x—7) <2;
) Iog1(9—x)+ Iogl(x—S) >-3
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5. Pemure ypaBHeHue:

log, x +log 5 x=-14

5. Pemure ypaBHeHue:

log, X +1log ; x=-10






